Paper - 1
Booklet Type A 0OCT-10 Booklet No.

Roll No.
Signature of Invigilators (In figures as in Admit Card)
T e Roll No. ..o,
................................................................... ( mwords)
Time Allowed : 75 Minutes]
{(Maximum Marks : 100 ICR Answer Sheet No.

Instructions for the Candidates

Write your Roll Number in the space provided on the top of this page. Write your ICR Answer Sheet
Number in the space provided for Answer Sheet Number on the top of this page.

This paper consists of Sixty (60) multiple choice type questions. Attempt 50 questions. In the event of
the candidate attempting more than 50 questions, the first fifty (60) questions attempted by the
candidate would be evaluated..

Each item has upto four alternative responses marked (A), (B), (C) and (D). The answer should be

a capital letter for the selected option. The answer letter should entirely be contained within the
corresponding square.

Correct method A Wrong method ] OR A

Your responses to the items for this paper are to be indicated on the Answer Sheet under Paper-I
only,

Read instructions given inside carefully.
Extra space is provided at the beginning and at the end of the booklet for rough work,

You should return the test booklet to the invigilator at the end of paper and should not carry any
paper with you outside the examination hall

There shall be no negative marking. :
Use of calculator or any other electronic devices is prohibited.

0. Incase of any discrepancy in Gujarati and English version of Questions the English version should
be taken as final.

sl w2 gyl

A WAL 2] eldell woudl duiRl Ad ez @vl. Gur euldd Answer Sheet Number
%3 dwki ICR Answer Sheet Number euil,

WL Mol als (50) AsRus sl wsdl 8, w0 Ul s2ail 8. A 48 Rl Yo 4] deid el 539
dl MSdllt MO sl Hiry YdL.

NS Ui Ayl ag Yz sgdslus Gul Wl 8. % (A), (B), (C) »i1 (D) a8 salaami ey

9. ol Gz dll2a el ad wiudi-l 89, Gardl dsl 2uld WAl AR Axd @y d
dugl-l 8.

Wil At Al aaa: | , |
:uté {twuﬂqt FUs w4 Answer Sheet . Paper I Reual <13 »ude wu-iaini siyas
84,
CAE Y A siawyds aifl, .

wl osdedl wabitasi v W 200G i 25 501 WS B,
NIl WY Y21 U8 oL gl B gsde ¥ d RAlas Al 2l Sun o1 uRlan visHd slz
4f ol «Adl;
M2l e 2 Aaifed yaiiz wuy el
besydza vl GAsgiMs dolinl waiay sl HAws g, _ . . .
Hﬂrt%’btvlt HEAML Yorncdl vl 2ide el R 515 R Rl HAd dl »idley w8 o ey s
g,

Paper-I—A 1 [P.T.O.]




ROUGH WORK

Paper-I—A 2




Note :
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PAPER-I

Yy3-1

This paper contains Sixty (60) multiple-choice questions of two marks each.

You are required to answer any fifty (50) questions out of them. If you attempt

more than 50 questions, the first 50

questions you have attempted will be

evaluated. There is no negative marking for wrong answers.
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8.

(D) It

Which of the following statements

defines education best ? -

(A) Education is a means of social
change

(B) Education imparts useful
knowledge

(C) It prepares autonomous human
beings

generates a lot of
employment

Semester system is recommended as

it is considered to :

(A) help students learn more
efficiently and be regular

(B) reduce

orientedness and increase

eXxamination

emphasis on learning

(C) provide scope for continual
appraisal and on course
correction in teaching-learning
process

(D) allow for more creative ways of

teaching
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3. It is said that teachers must enable
students to own the responsibility
for learning. This means teachers
(A) have reduced responsibility of
learning

(B) assign learning tasks to
students

(C) ask students to study on their
own _

(D) must help students to evolve
one’s own ways of learning

4. At higher education stage emphasis
needs to be on, not only ‘what’ and
‘how much’ is learned by students
but ‘how’ and ‘how well’ they learn.
This idea is expressed at present
as :

(A} Learning to know
(B) Learning to live
(C) Learning to do
(D} Learning to learn

5. The current thinking of assessing
students only at the end of the term
is less relevant as it :

(A) reveals student’s learning in
respect of subject matter

(B) concerns with how accurately
one recollects the subject matter

(C) may reveal ‘temporary
learning’ and not beyond

(D) assesses student learning on
‘what is asked’ rather than
‘what is learned’ even beyond
subject matter
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Arrange the following from the least
difficult to most difficult :

(1) Teaching of processes

(2) Teaching of values

(3) Teaching of concepts

(4) Teaching of thinking skills
(A) (1), (3), (4), (2)

(B) (2, (4), (3), (1)

(C) (1), (3), (2), (4)

(D) (1), (2), (3), (4)

Recently a separate Board has been
established to
...................... education institutions in
Gujarat.

(A) legal

(B) technical

(C) medical

(D) professional

monitor ajl

The increasing number of entrants

into  higher education has
necessitated changes in our views
Some

progressive institutions have faced

of teaching learning.

this through the adoption of '

multimedia for teaching-learning.

This means, the use of................. for

teaching learning.

(A) lecture-cum~discussion,
practical work

(B) face to face, distance and open
learning (ODL) systems

(C) ODL, face to face, satellite and
web based modes

(D) seif-learning, ICT based, ODL
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10.

Apart from specialisation in one's
subject areas., products of higher
education are also expected to
be. i in the context of

national development.

(A) sensitive and proactive towards

emerging concerns and issues

(B) responsible workers in one’s

institution

(C) aware of the economic changes

especially the job market
(D) tolerant to the negative forces

To ensure quality maintenance in
universities and colleges guidelines
and regulations are periodically
prepared by the................... at the

national level.

(A) National Assessment and
Accreditation Council (NAAC)

(B) National
Educational Research and
Training (NCERT)

Council for

(C) University Grants Commission
(UGO)

(D) National Institute of Advanced
Study (NIAS)

Paper-I—A

10.

G2 [Bae-l e wdel didi-
QAny-l 84 [@Adsstdl Guid andy
Qs wRdsHl ... Al 21Q8

uRl e 69,

(A) Gemadl Al 2R Frowdi-

Aeolui ddealla 20 ydluicus

(B) Widll H™LHL s FABLELR

sidsdl

(C) v 53] 2nagRS woLd-L 2 s
uRad-l 23 a9yfa

D) Asles WRowl U Ry

a2l v adaui el
Jelanl Anaadl w2 Wl wdl
auuid? Holeds yadl » [Rasl
......... dulr 53 0.

(A) AU A3uA-2 w5 As[Eeur
s16={la (NAAC)

(B) Aard s6=lld iR Aryduna

Jud uivs 2[+oL (NCERT)
© yHaldl a-e sHa (UGC)

(D) A O-REleye Uig ASALAS
8l (NIAS)




11.

12.

13.

The open university at the national
level in India is known as :

(A) Indian General National Ope

University

(B) Integrated Governmental
National Open University

(C) Indira Gandhi National Open
University

(D) Iswarbhai Gordhanbhai
National Open University

Three kinds of universities in India

are :

(A) State Universities, Central
Universities, Affiliating
Universities

(B} Unitary Universities, Technical
General
Education Universities

(C) State Universities, Central

Universities,

Universities, Private
Universities

(D) Central Universities, State
Universities, Deemed
Universities

A condition or characteristic that
can take on different values or
categories is called :

(A) a constant
(B) a variable

(C) a cause and effect relationship

(D) a descriptive relationship
Paper-I—A
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14.

15.

~ 16.

17.

A researcher wants to find out the
relationship between gender and
intelligence among high school
students. This would be :

(A) a Case Study

(B) a Developmental Study

(C) a Survey Study

(D) an Experimental Study

The best graphical way to present
data related to different levels of a
certain variable is :

{A) pictogram

(B) pie chart

(C) histogram

(D) frequency polygon

In simple terms ‘reliability’ is
the :

(A) consistency of scores on tests

(B) appropriateness of
interpretation based on test
scores

(C) ways in which people are the
 same

(D) rank order of participants on

some measure

A researcher was interested in

studying why learning of new maths

was not effective in schools during

1990s. For this, he interviewed

several teachers who had taught

new maths at that time. These

teachers were................. for his study.

(A) primary sources

(B) secondary sources

(C) external critics

(D) internal critics
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18. A positive correlation is present g oy 3 AL3 U "dedeiy 914

when : N
9.
(A) two variables move in opposite
directions (A) o 3l R3¢ [BwlHl wadt iy
B iabl i N - ,
(B) two variables move in the same (B) &L el s % [ausi/asun Bawi
direction .

(C) both variables have negative HAAL ely

values (C) ol Adl QL el 4lddl Sl

(D) several variables rarely change D N 3 o N
R AL MY ¥ oledldl €ld
Directions (Q. Nos. 19 to 21) : D)

Answer the questions from the Ja-u (ll"l 19 dl 21) :
given data : | Al -l wuledl wdll us 19

ol 21 i Gd @vil :

ALze{lHl 1991 &l 1995 33l uia
-l RQenglai-Al iz sii- wRd
estat?] w3y »uudl 9.

(Given data tabulates admission (in
percentage) of the candidates to the
four courses in five years from 1991
to 1995 :

L 2%
Year |Percentage of admitted candidates Cl,\[ xda @ﬂ.ﬂﬂl [Q.Elld[?’ll"l L
WAARA G2AIURA THUANA ARd st
Biology Geology Chemistry Mathematies

1991 35 30 20 15
1991 35 30 20 15

1992 40 35 15 10
1992 40 35 15 10

1993 30 25 20 25
1993 30 25 20 25

1994 20 20 30 30
1994 20 20 30 30

1995 30 30 25 15
1995 30 30 25 15

BUusd MUlBdlAl 2081 Al
YsAidl Gd 2]

19. 1993 ¥l 1994 YL 20U WRiE
sdl [Qanel{atidl dvani 3eal est
a1l adl ?

Answer the following questions
based on the above data.

19. What is the % of increase in number
of candidates choosing chemistry
from 1993 to 1994 ?

(A) 25
(A) 25 (B) 50
(B) 50 (© 100
(C) 100 D) 75
Dy 75
Paper-I—A 9 [P.T.O.]




20. What is the % of fall of number of

21.

candidates in Biology from 1992 to
1993 ?

(A) 25

(B) 50

(C) 100

1) 75

In which subject the strength (in %)
was least in the year 1993 ?

(A) Biology

(B) Geology

(C) Chemistry

(D) Mathematics

Directions (Q. Nos. 22 to 24) :

The following data provides the
information of outgoing students
from an academic institution after
completing their study. Answer the
question Nos. 22 to 24 based on these
data :

Percentage of Year
Students 2003 2004 2005
by eampus recruitment 33 38 39
in further study 40 36 37
unemployed 2 1 3
to other activities 25 25 22
Total number of students | 1200 1100 1000

Paper—-I—A
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22. What is the largest number of
students employed through campus
recruitment ?

(A) 396
(B) 418
(C) 490
(D) 430
23. What is decrease in number of
students going for further studies
during 2003-05 ?
(A) 110
(B) 100
(C) 30
(D 10
24. How many students choose other
activities in 2004 ?

(A) 300
(B) 275
(C) 220
(D) 200
Directions (Q. Nos. 25 to 30) :

Read the following text and answer
the questions 25 to 30 -

The world is becoming global
rapidly. The national boundaries
have become less significant with
the interlinked effects of technology,
information flows and investment
mobility. Human knowledge,
particularly in the sphere of science
and technology, is now growing at
& pace which was indeed
unthinkable even two decades ago.
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The comparative advantage of a
nation will be more and more
influenced by its capacity to
generate, absorb, adapt and
assimilate new technologies into
production process. If liberalisation
and globalisation are not to create
islands of prosperity surrounded by
vast sea of destitution, there has to
be firm commitment to human
resource development and to
continuous upgrading of human
skills and capabilities in the fast
changing world that we live in. The
Indian policy makers are fully
committed to building a society
which is technologically
sophisticated, economically
progressive and socially just and
humane.

Impact of globalisation on education
is now being felt in India. Indian
entrepreneurs are also now
investing in education. In the
process of privatisation of higher
education in India, many good
institutions have come up and have
met the increasing demand for
higher education mainly in the area
of engineering, business
administration and medical
education. But this process has also
led to mushroom growth of low
quality institutions without proper
infrastructure. the

expansion of higher education in

However,
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India has resulted in increasing
access to higher education even in
rural areas of the country. In this
process, Resource
Development is taking place at a
faster speed as compared to the
earlier stage when the opportunities
for higher education were limited.

Globalisation has promoted
information technology in India.
Indian students have excelled in the
area of information technology over
many other countries.
Developments taking place in the
developed countries become
available to Indian students,
scholars and practitioners through
regular contacts and through the
modern technology.

How has
contributed to

Human

‘new technology

enrich the

competencies of Indian students in

the field of IT ?

(A) Indian students go to foreign
universities in large number to
study IT

(B) The new technology has
enabled them to study IT in
India

(C) Indian
promoting the new technology

(D} Our students have established
good contacts with developed

government is

countries.
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26.

27.

28.

In the globalized India human

resource development is accelerated
by :

(A) Rapid flows of information

(B) Privatization of higher
education

(C) Opportunities for higher

education are limited to rural
areas ‘

(D) Commitment of Indian Policy

makers

In a fast changing society, firm
political commitment is essential
to :

(A) spread prosperity equitably

(B) reduce widespread destitution

(C)

enhance quality of human

resource

(D) all of the above

Of the following................... is not a

factor affecting the speed of

globalization.

(A) Generation of new technologies

(B) Freedom for investment

(C) Marriage of information with
technology '

(D) A high speed growth in
knowledge

Paper-I—A
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29. What might happen if we fail to

create a just and humane society ?

30.

(A)

(B)

(C)

(D)

The programmes for human
resource development would
fail

Human skills cannot be

upgraded

The process of globalization

would break down

Globalization and liberalization

would create economic

imbalance

Find out the results of privatization

of education in India, from the

following :

(1)

(2)

(3)

(4)

(A)

(B)

(C)
I

Higher education has become

accessible to rural students.

The pace of human resource

development has increased.

Many low quality colleges have

come up.

The quality of medical and
engineering education has

improved a lpt.
(2) and «(3)

(1) and (4)

(1), (2) and (3)
All of the above

Paper-I—A
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29.

30.

ol UYL A YRE 24, e dld W

Mulor s2aml Fevsa asa dl g

e audl ad ?

(A)

(B)
(C)

D)

A dALEA s sidsy [Fsa
el

Hirdla SlaaiHt Geae Al
qeclsredl wiEul ool usd

dadls@ vid Gellsw gLl

2B wvga weld

izl ctddl Remdl adal

wilrls e ey el

(1)

(2)

(3)

4)

(A)
(B)
(C)

D)

a{ler [Qeneloiin G [l ¥l
yeizdldl ds 3ol

qira dAlaq @Asiadl afanl
Uil UL 69

- et qtadl qell slaa
Gedl ad

daofloll 2wd Sudl (gl
Rl VUL AHLRL qAl B

(2) 211 (3)
1) 1 4
(1), (2) 27 (3)
Gual aEL %

[P.T.O.]




31.

32.

33.

EDUSAT refers to :

(A) Satellite based transmission
channel meant for educational
purposes

(B) A television channel providing

education and entertainment

(C) A non-commercial television

channel operated by cables

(D) An

operated through universities

educational channel

Teachers must not only be effective

communicators but they should

also :

(A) use

communication

various media for

(B) take care to remain effective

(C) get regular feedback from

students

(D) develop the same (effective

communication) in students
The most preferable type of
communication in the classroom
is :
(A) One to many
(B) Many to one
(C) One to one
(D) Many to many

Paper-I—A

31.

32.

33.

EDUSAT 24 :

(A) el &d 2 sraml 2uag
Guaes uElRd AAw

B) (a9l 2 udliyd Yy usdl
As 2An A |

(Q) %oid gixl Acact™l iadl G-
qaleldl 2RQr Aa

(D) YAl gzl adiadl s
ey Ana
(BL8L51 HUsL USRS Medld-sdl o

ded ud ndl. 2 GURid AR

wlad 112 [Alaa wieasi-i
GuylaL 524l ASBl

UISIASAL Al UnaAL W2
st Adl Ao

© el wddl [Hualiad
uladive Aaag Adu

D) (Aenellaini w8l 2ud % Hld-
slad @Qswad A6

(A)

B)

A AL suL wsLad, asl-senus 8lel
ag Gl ¥ :

(A) s e

(B) qeld, s wd

(C) Nsd s w8

(D) 8l =Ll W8




34.

35.

36.

37.

‘Nodding’ is a cue for................... 34.

communication.

{A) initiating

(B) terminating

(C) encouraging

(D) distracting

Which of the following is not a

communicative situation in the
classroom ?

(A) copying down the points

written on the blackboard

(B) standing up when teacher

enters the classroom

(C) looking down when teacher

asks a question
(D)

The major barrier in communication

looking at the teacher silently

process is :

(A) sender’s poor knowledge of the

topic of communication
(B)

receiver’s negative attitude
towards the sender

(C)
(D)

disturbance in the surrounding

lack of perceptible feedback
from the receiver

37.

An address of a website on internet
is called :

(A) URL
(B) Client
(C) Protocol
(D) WAN

Paper-I—A 17

35.

36.

MY sdlaq’ (nodding) 2 My
WML el U3 8 7

(A) MIZ™ s3L-il
(B) »id dlddil

(C) Micilerd iLudll
(D) iAol s34l

A uil H{ld U8l 5§ wRaly
N[z Baia ] ?

(A) st wileal u daviar el
l2Hi Gdlra

(B) (s adlui A cu Gy ug
(©) [Ras ust yw -y Ag
(D) (fas R fou-ou aisl 8q
ULy -EULHE Al HISL 2iaRiy sul
9 7

(A) Unmsdl wular-L Yel {3+

Aol w5t

(B) UMs U wirasdld Asiicis
S

(C) AMRAHL udl Hlgle

D) utdsdl  dsdl  2ulal

wlauineiHl vieqg
Hra-e UL dop AlSedi wlguA

---------

(A) URL
(B) saly-2
(€) Mielsid
(D) WAN
[P.T.0.]




38.

39.

40.

41.

42.

In order to disconnect Internet, one
has to :

(A) Log in

(B) Exit

(C) Log out

(D) Quit

In which of the following file format
the editing is not possible ?

(A) . doc

(B) . pdf
(C) . ppt
(D) . txt

A result of a computer virus cannot
lead to :

(A) Deletion of file

(B) Corruption of program

(C) Disk crash

(D) Motherboard Crash

The word ‘Internet’ is a composition

of : ‘

(A) Inter-communication
Network

(B) International and Network

and

(C) Inter-connection and Network
(D) Interactive and Network
The full form of HTML is :
(A) Hypertext Machine Language
(B) Hypertext Markup Language
(C) Higher Text Machine
- Language
(D) Hidden Text Markup Language

Paper-I—A

38.

39.

40.

41.

42.

Grerne Asiwedl el udl Mi2

.......... ud AL

(A) Log in

(B) Exit

(C) Log out

(D) Quit

AL sida sidenidl  wal

BLB[Ea/yall-aaLL sdl AsH
"l 7

(A) . doc
(B) . pdf
(C) . ppt
(D) . txt

syey auqdl WRsud g oag
i ?

(A) sida-d sldle ad

(B) MMM, s'2 ug

(C) [Srsd 3 ug

(D) HaR oSt 3 U9

(Grexfe’ AE ..., o Al B
(A) Sr2-5u[3UA A Aeds
(B) OrerAadd A n2as

(C) Hr2-55U i 2ab

D) HreAlZzd » A2ab

HTML + 4l 2434
(A) slu2se vl dody
(B) slqu2s2 Hisuy dod%
(C) slR 252 el dody
(D) Rs 2522 Mbnu G0y




43.

44,

45.

46.

If HOW = 23, and HAI = 9, then
SEX = ? '

(A) 18

(B) 36

- (C) 47

(D) 24

The correct number for question-
mark in the sequence : 3, 4, 7, 12,
?, 28, ... is :

(A) 20

(B) 18

(C) 19

(D) 17

Given the set A = {Sparrow, Parrot,
Peacock, Swan, Owl, Duck}. Then
the total number of its subsets will
be : '
(A) 56

(B) 36

(C) 64

(D) 32
Choose the
to complete the sequence :

correct answer

43.

44.

45.

46.

B HOW = 23, 243 HAI = 9 &l d}
SEX = ?

(A) 18

(B) 36

(C) 47

M) 24

el Sl : 3, 4,7, 12,2, 28, .. Hj

e e viadl il dvag, L

~

9.

(A) 20
(B) 18
(C) 19
D) 17

Ul 2 A = (usdl, diue, W7,
€U, §4S, ods) Al gd GusRll-]
......... ugl,

TR TS [

VR AR S

Ui viedl Hes iy [Aseiaie] wloy
A wde s Asl yol 53] :

[P.T.O.]




47.

48.

49.

50.

Paper-I—A

If ‘4’ stands for multiplication,
stands for division and “¥ stands
for the power, then the value of
H4 + 3) — 2}*¥2]6 * 0) 1s :
(A) 30
(B) 25
(C) 35
(I 20
Given the correspondence 0 — —4,
1 » -3, 2 > 4, 3 - 23. Then
3/4 - ?
(A) 520/81
(B) —341/37
(C) 421/88
(D) —229/64
A person X is taller than Y but
shorter than Z. The person V 1is
taller than X but shorter than Z, and
W is taller than Y but shorter than
X. Then the tallest person will be :
(A) Y
(BY 2
(C) Vv
D) X
Make the sequence

x, ,p, I, h
Complete by filling correct answer
from the given alternatives.

(A) ¥
(B) t
C) =
D) n

50.

20

47.

48.

49.

R AALSLE M2 4+ Bimg Ay Ml 04,
ALSL HIZ < Blmg ardzanHl 204,
2 Hid H2  Bire aruanil sd
dl (4 + 3) — 21*2]—(6 * 0) 14 H&
Y3l

......

O 20
A wrid dadal 2yl sy di
yar(@eedl @A 55 Avul 4 ?
0-»>-4,1->-32->4,3 > 23,
3/4 > ?
(A) 520/81
(B) -341/37
(C) 421/88
(D) —229/64
s Ald X -l Glaus Y sdl ag 89,
gt Z 53l 28l 8. ul3d v+l Glans
X 53dl a4 & uel Z s3al el 9.
wA Wl GlousS Y sl a4y © ual
X s2dl el 8. ol Al ay Glad
sifl ed 7
A Y
(B) Z
(I
M X
wuel gl

x, ,p, L, h
ui vedl wzs e RsedHidl doy
Ad wie s yel s
(A) y '
(B) ¢
(C) =z
D) n




51. A teacher is teaching in a classroom.
The Venn diagram related to school,
teacher, classroom and blackboard
will be :

w O ©

(B)

(D) None of (A), (B), (C)

52. Fill the correct letter from the given
alternatives, in place of question-
mark :

A
NZAN

(A) C
(B) K
(C) B
D O
Paper-I-—A

D\

N AN
N

51, 5 wouHl Res aolHi sendl e
. i Aol L, [Bas, wof A
odsolis uisadl A4 2wl ...
ud).

w (O ©)

(B)

D) (A), (B), (C) Hidl s Al

52. U4 uglani, 2wde Rseyinia]
WAL [AseU Uz Peer] @Y 44

A INA N AN

E F 7
DU ZE N 7

(A) C

(B) K

(C) B

D) O

[P.T.O.]




53.

54.

Put the correct letter in the
diagram, from the given
alternatives, to replace 7

©®©
@ ® O
®O® 0O

(A) J (B) K
(C) L D G
Complete the sequence of squares
by choosing the correct figure from
the given alternatives :

53.

54.

2 Al puglan »ule Rsedixiall 0l
[Qsey uaA@nsAl oA sl

(A J
€ L D) G

et 5B ALY 2wyl Al
e [Rsediniel 0l [asey 4l Al

(I
L |

[T 1
L

K

8d.

(A)

(B)

olf ]

(D)

Which of the following pollutant gas
present in atmosphere is more toxic
to human beings ?

(A) Carbon dioxide (CO,)

(B) Methane (CH,)

(C) Carbon monoxide (CO)
(D) Sulphur dioxide (SOs)

Paper-1I—A

[
L—-—-—-—'—u:]

i
LM

yel s :
Ll

55.

(B)

(A)

o) ]

(©)

Mo |
Lo |

P

(D)

dlaia Ui 8l sul ueMd ay
Widgold M2 ag B3 Yy yul
B ?

(A) slold SllsUSS (COy)

(B) Mé~ (CHY

(C) slofd HiAlsASS (CO)

(D) AH SLsASS (SO,)




56.

57.

58.

59.

60.

Although use of nuclear energy is
thought to be pollution free, yet it
can pose severe health hazards due
to :
(A)
(B)
(C)

Nuclear explosion

Any disaster in nuclear plant

Unavailability of nuclear waste

disposal methods

Exposure of radiation during

normal running of a nuclear

plant

Green-house effect is increasing due

to :

(A) Change
pressure

(B) Change in number of green-
house gases

(C) Change in concentration of
green-house gases

(D) Melting of glaciers and dry
atmospheric conditions

Arrange the following gases in

decreasing order of their

concentration in atmosphere :

(1) Oxygen '

(2) Nitrogen

(3) Carbon dioxide

(4) Argon

(A) (2)-(1)-(4)—3)

(B) (1)~(2)~4)~(3)

(C) 2)~(1)—(3)~4)

(D) (2)~3)~(4)—~(1)

Reduction in global warming is

possible with :

(A) increased plantation

(B) conservation of wildlife

(C) reduction in use of fossil fuel

(D) (A) and (C)

Which is the second most important

green-house gas besides CO,

responsible for global warming ?

{A) Methane

(B) Chlorofluoro carbon

(C) Nitrous oxide

(D} Ozone

(D)

in  atmospheric

(CFC)
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57.

58.

59.

60.

23

ARG AL auin A 3 viugfig
HirdtHl 2Ud 9, dM di ue
1 lf Al ey Gy
Al U ud B,

..........

(A) a»{% [Qzsiz
(B) ylseur a-eui adl gieny
(C) 8 suauAl [Ms1d s+

Uglazll Guasy + gl

Y[3au wireni adl ARAYAA

WA

Al-s1Gu $Es2’ Wi qail aaig

ETRISA:

(A) AlcdlaR@il souRmi odl 33512

B) Al 1B An-dl Avyui Adl
53812 '

(C) Al 16U A~ Aigami udl
3512

M) Bulucuziig Yloag «d ysi
sl 2143

A2 20l wyiia Aud aldia e

8dl Yzdidl Gazdl sHHi olsql -

(1) iy«

(2) ~lSgia-

(3) sl1olv siyisSS

(4) olq

(A) (2~(1)«4)—(3)

(B) (1)~(2)~(4)—(3)

(C) (2)~(1)~3)—4)

(D)\ (2)—(§)—(4H1) .

dlotd qiffor wi gasi aud o wsy

ol oy 3 .

(A) qariveiHi agil quy

(B) a4~y 2] waqel yy

(C) w3 sadani g2l ay

D) (A) ¥4 (C)

sl SIUSAUSS (COy) GuRUA ol

541 Mgl Al e1BU Y B % sl

qiBfor W2 gl 7

(A) [Maq

(B) selisdil siol4 (CFQ)

(C) Ugu 2iisuEs

(D) N+

(D)

[P.T.O.]




ROUGH WORK
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